
Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

Australian/New Zealand Luthiers Forum 
South Pacific/Indian Ocean/Gulf of Carpentaria/Great Australian Bight Luthiers 

  
 FAQ   Search   Memberlist   Usergroups  

 Register  

 Profile   Log in to check your private messages   Log in 

 

The "K-Sled" Kerfing Jig 
 
  

      Australian/New Zealand Luthiers Forum Forum Index -> Tutorials

View previous topic :: View next topic  

Author Message

Kim 
Comfortably Numb  

 
Joined: 26 Sep 2007 
Posts: 769 
Location: South of Perth WA 

Posted: Thu Jul 24, 2008 1:29 am    Post subject: The "K-Sled" Kerfing Jig  

The "KSled" Kerfing Jig  
 
 

  

 
Acknowledgements  

http://www.anzlf.com/viewtopic.php?p=9556 (1 of 15)24/07/2008 12:04:22 AM

http://www.anzlf.com/index.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/faq.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/faq.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/search.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/search.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/memberlist.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/memberlist.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/groupcp.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/groupcp.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/profile.php?mode=register&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/profile.php?mode=register&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/profile.php?mode=editprofile&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/profile.php?mode=editprofile&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/privmsg.php?folder=inbox&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/privmsg.php?folder=inbox&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/login.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/login.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/viewtopic.php?t=751&start=0&postdays=0&postorder=asc&highlight=&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/posting.php?mode=newtopic&f=5&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/posting.php?mode=reply&t=751&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/index.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/viewforum.php?f=5&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/viewtopic.php?t=751&view=previous&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/viewtopic.php?t=751&view=next&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/viewtopic.php?p=9556&sid=08c0893c643f9fcc2efcdd7509cf459d#9556
http://www.anzlf.com/posting.php?mode=quote&p=9556&sid=08c0893c643f9fcc2efcdd7509cf459d


Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

 
Ok, letâ€™s start by giving credit for this jig where it is most due and I want to be quite clear that it is not with me. As far as I am aware, this 

jig was probably first conceived/developed by Frank Ford, host of Frets.com, the most informative guitar repair and construction web site on 

the Internet. If I have this detail wrong then I apologise profusely to whom ever the clever cookie was that came up with this idea. Frankâ€™s 

site was certainly the first place that I ever saw it in action.  
 
(Here is a link to Franks site where he not only explains how the jig works, but also shows the jig in action with movie clip: http://frets.com/

FRETSPages/Luthier/Tools/LiningKerfer/liningkerfer.html )  
 
Next, we need to give credit to Daniel Huskey, an OLF member who was kind enough to put together an image based tutorial to help remove 

the mystery and show that this thing is not really as complicated as it first appears.  
 
Disclaimer  
 
Before we move on, please understand that this tutorial was originally posted in the USA. This is why all measurements are in imperial, and 

some materials are referred to by their generic USA names. I chose to write the tutorial in this way because most Aussies and Kiwis have 

already had to relearn these measurements and terms given that the richest resources for learning our chosen craft are based in the USA. 

Therefore, I figured keeping to this format would inconvenience least amount of people.  
 
I must now mention that I submit this information in good faith and as a general guide only. I do this only in the hope that my effort will assist 

those wishing to exercise their own skills to safely construct this project. Power tools, hand tools, and any other associated materials that are 

listed or suggested as being required for completion of this project, and indeed the workshop environment in general, can be very dangerous. 

If you are not familiar with the safe operating procedures of any of the listed tools or equipment, or the safe handling procedures of any of the 

materials listed or suggested, please do not proceed. Regardless of your skill level, should you choose to proceed with this project, please 

understand that it is entirely at your own risk. With this advice, I hereby indemnify myself and all others, including the ANZLF and anyone else 

associated with this submission against any level of liability or responsibility to any person or persons whom may suffer, cause or incur any 

personal injury or loss of property what so ever during the construction and or operation of this apparatus.  
 
Ok, now that we fully understand that when building this jig, should you at any time exit your shop, your body mass now being a few grams 

less than when you went in, it be your own silly fault, the formalities are over. However before we move on, I will ask for patience and 

understanding from the more experienced craftsman who may decide to use this tutorial for the fairly long-winded way I have chosen to 

present this information. I just felt that as I will not have much control over who reads this once posted, it be best to play safe and explain 

what I can. If at anytime throughout this submission my own knowledge or advice should be found wanting I apologise in advance but if you 

can build a guitar, you should be able to nut this one out.  
 
A note on materials.  

Once you understand how it works, you could probably make this jig with what ever materials you have at hand which you think may fit the 

bill. So up to a point substitutions are fine, however I do consider Daniel's use of Lexan (Perspex for Aussies, Poms and Kiwis but from here on 

in I will just stick with Lexan to avoid confusion) for the friction surfaces is very clever. Lexan is smooth, quite rigid and relatively easy to work. 

It drills well, takes a thread well enough, glues OK, and is readily available, quite often for free as off cuts from glaziers, and it even looks cool. 

Those point considered, it is quite literally the clear choice.  
 
A cautionary note about working with Lexan.  

http://www.anzlf.com/viewtopic.php?p=9556 (2 of 15)24/07/2008 12:04:22 AM

http://frets.com/FRETSPages/Luthier/Tools/LiningKerfer/liningkerfer.html
http://frets.com/FRETSPages/Luthier/Tools/LiningKerfer/liningkerfer.html


Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

I have found that Lexan is best cut with a bandsaw fitted with a fine toothed blade designed for cutting metal and that shaping is best done 

with an abrasive Belt or Drum Sander.  
 
You can straighten the edge of a sheet of Lexan with a planer/buzzer, you can also cut it with a table saw but be very careful, IT CAN 

SHATTER! Especially if old or been exposed to direct sunlight for an extended period. The safest way to perform these operations is to first 

understand that the material you will be pushing on towards the blade has the potential to disintegrate in your hand if not respected, use a 

push stick. You MUST also wear eye protection, and understand that sharp tools and shallow cuts are the only way forward. Eg: If you must 

use a table saw, use a fine toothed blade, minimum of 40TPI, and adjust the blade right down until the crown only just cuts through the 

surface of the material. This way the blade will act as a scribe as it meets the material making for a much cleaner and safer cut. Under no 

circumstances should you ever attempt to cut Lexan with a course toothed ripping blade or with the blade raised any higher than necessary. 

The hammering action of the saw teeth impacting directly on the edge and surface of the Lexan in such a situation can be extremely 

dangerous.  
 
Lexan drills well leaving a very neat crisp hole as long as you don't force to hard on the bit and cause breakout, but once again you need to be 

careful. If you try to bore too larger hole all at once, the material can/will grab very easy. This can be very dangerous, even in a drill press. 

Never attempt to hold a work piece by hand, should/when it grabs breaking free from your grip, it will spin and may shatter into a razor edge 

coming back round to end your days as a player. A simple rule of thumb: Always clamp firmly and then drill or you may not have one to rule 

by. When drilling larger holes, use safe gradual progression in drill size, a moderate speed, and once again, a sharp cutting tools. If you need 

to drill or shape a small piece of Lexan that will be difficult to clamp safely, try shaping the piece and drilling the required holes in a larger bit 

of material and then cut the component to size as in the images below.  
 

  

 
 

Daniel's Image Based Tutorial  
 
I will discuss a cut list and some minor modifications that I made to this jig later, but next we will take a look at Daniel Huskey's image based 

guide as was sent to me. I found that there was enough information in this guide to complete the project so I would imagine that this is all that 

a lot of you will need to do the same. However I will add a few points of clarification to help out after you have viewed the images, I highly 

recommend that you read all of what is here before you go drilling or cutting anything. It is just good practice and you may also have a much 

better way of doing things than I so it will save you time and material to look things over before proceeding.  
 
Hello Kim,  

Here is the info I promised.  

http://www.anzlf.com/viewtopic.php?p=9556 (3 of 15)24/07/2008 12:04:22 AM



Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

To use the Kerfing Sled you will need a band saw, but you already knew that. As I said earlier, I make all of my linings. I see no need in buying 

something that is so easy to make, and in your case paying a high shipping charge.  
 
The K.Sled is really simple. It rides in the miter gauge slot on the band saw. Any size bandsaw. As you advance the sled toward the blade, the 

index arm strikes a plate and moves the strip what ever distance you have it adjusted for. Then the strip contacts the blade and the kerf is cut 

stopping at a set depth.  
 
Here is some photos:  
 

  

 

http://www.anzlf.com/viewtopic.php?p=9556 (4 of 15)24/07/2008 12:04:22 AM



Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

  

 

  

 
 

http://www.anzlf.com/viewtopic.php?p=9556 (5 of 15)24/07/2008 12:04:22 AM



Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

  

 
(You can download, view and print the full size image of the cut plan from this link: http://members.iinet.com.au/~larkim/larkim/Ksled/

lexanplanfull.jpg )  
 
End of part one. 

_________________ 

If you always do what you've always done, you'll always get what you've always got  
 
Last edited by Kim on Thu Jul 24, 2008 2:59 am; edited 3 times in total

Back to top
 
  

http://www.anzlf.com/viewtopic.php?p=9556 (6 of 15)24/07/2008 12:04:22 AM

http://members.iinet.com.au/~larkim/larkim/Ksled/lexanplanfull.jpg
http://members.iinet.com.au/~larkim/larkim/Ksled/lexanplanfull.jpg
http://www.anzlf.com/profile.php?mode=viewprofile&u=6&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/privmsg.php?mode=post&u=6&sid=08c0893c643f9fcc2efcdd7509cf459d


Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

Kim 
Comfortably Numb  

 
Joined: 26 Sep 2007 
Posts: 769 
Location: South of Perth WA 

Posted: Thu Jul 24, 2008 1:54 am    Post subject:  

Part 2  
 
OK so letâ€™s move on with a list of materials. The list below is to construct a jig with the same dimensions and appointments as my own. 

However nothing is too critical and you may need to alter some things along the way to better fit your own bandsaw. All these measurements 

are of course determined by the location of the mitre slot in your bandsaws table or auxiliary table. The idea then is to have the Sub-base wide 

enough so that when the jig is in operation, the long "indexing arm" can be align to make contact with the actuation "Striker", which is 

clamped to the outboard edge of your bandsaws table, the base extends inboard thereafter to where the blade makes entry into the jig and 

then further inboard again by about 2 1/2" to accommodate the out feed "guide" block which, on my jig, overhangs the inboard end of the Sub-

base. As a note, the Sub-base on my jig overhangs the outer edge of my bandsaws table by 1".  
 
So you should now have some idea just how wide your sub-base needs to be, if so, your in business. Simply adjust the cut length of the Lexan 

"Face Plate" to match your Sub-base and cut the rest of the Lexan components to plan. Donâ€™t be too concerned at this stage with any other 

alterations that may be needed, these should become more clear as you progress along. Just remember that we are not talking a great deal of 

material here, if at any time you find yourself having trouble following my instructions, or maybe getting a little baffled by any detail, just take 

what you can from this guide and try to proceed via trial and error, the basic function always remains the same, as long as you can cut your 

own kerfing at the end, who cares how you get there.  
 
An Alteration Note  

From his instructions, it would appear that Daniel chose to use 3/16" Lexan for all components accepting the shortest "Indexing Arm". Which 

because of the requirement to drill through it's thickness to accommodate the "Indexing Pin", which in operation needs to make contact with 

the stock fairly low down, 3/8" material was chosen for this component. In the interest of rigidity, (and this is probably unnecessary) but in the 

main to allow fitment of brass bushings to all pivot points, I decided to beef up all Lexan components aside from the 4" x 4" base, the "Face 

Plate", and the "Holder for Strip Guide" to 3/8" material. I will provide more information on these very simple yet affective bushings later in 

this post.  
 

The Materials List  
 
 
1 x 9 ?â€• x 5 ?â€• rectangle of ?â€• ply (Sub-Base)  
 
1 x 9 ?â€• x 4â€• rectangle of 3/4â€• ply (Indexing Base)  
 
1 x 11" length of metal or hardwood the slides freely but without side play in the mitre slot of your own bandsaws table  
 
1 small off cut from a 3/16" thick sheet of Lexan app 10" x 5"  
 
1 small off cut from a 3/8" thick sheet of Lexan app 8" x 3"  
 
2 curtain hooks or other apparatus to connect the spring or rubber bands to.  
 
1 x big thick industrial sewing machine needle or other hard metal pin that can be sharpened to a chisel point. (maybe a small Allen key or drill 

bit)  

http://www.anzlf.com/viewtopic.php?p=9556 (7 of 15)24/07/2008 12:04:22 AM

http://www.anzlf.com/viewtopic.php?p=9557&sid=08c0893c643f9fcc2efcdd7509cf459d#9557
http://www.anzlf.com/posting.php?mode=quote&p=9557&sid=08c0893c643f9fcc2efcdd7509cf459d


Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

 
3" x 1/4" threaded rod.  
 
2 x 1/4" T-nuts  
 
3 x 1/4" Nylok nuts  
 
1 x 1 1/4" x 1/4" cup head bolt  
 
1 x 1" x 1/4" countersunk machine screw (with flat washer)  
 
1 x 1 1/4" x 1/4" machine head bolt with washer  
 
4 x thin fibre washers to fit the 1/4" threaded rod  
 
1 x short length of brass tubing 9/32" OD (I got mine from Bunnings (think home depot) you could also try a hobby shop)  
 
I will leave you to work out the number and size of practical board screws that you will require to fix the various components together. Just 

remember two things, for smooth operation, all screws must be counter sunk flush with or just below the surface of the Lexan and mitre bar 

and don't use screws so long that they will come through the other side of the jig even just a little.  
 

Building the KSled  
 
Well, now that you have had a look at Daniels instructions and you have a materials list lets move on. By now you should have your materials 

worked out and your 3/4 ply Indexing Base should be cut to exactly the same width as your Sub-base. We now need to rebate this 3/4" ply 

"Indexing Base" so that it will accept the 4" x 4" piece of 3/16" Lexan from the cut plan flush with the surface of the ply base as shown in the 

images below. But before we can do this, we must first determine just where on the "Indexing Base" this rebate needs to be.  
 
Let's look carefully at the very first image of the jig above, note the angle of the "Long Indexing Arm". In this image the arm is positioned after 

having already made contact with the "Striker", but the blade has not yet cut the kerf in the stock. See how the end of the "Long Indexing 

Arm" is now free to ride on the flat parallel SIDE of the "Striker" with no further inward movement. You can see the angle that the "Long 

Indexing Arm" would have occupied while at rest before it made contact with the angled face of the "Striker" by observing the gap between it 

and the Lexan "Stop" block to it's right, on my jig this angle is about 10 degree. However the exact angle is not that critical just as long as 

some outward angle has been built in.  
 
Just to be clear, the point is that we want the long "Indexing Arm" to lay out angled away from the blade of the saw a little so that as the end 

of the "Indexing Arm", makes contact with the angled face of the "Striker", it is pushed inward by that angled face thereby allowing the "Short 

Indexing Arm" and the "Indexing Pin" to slide the stock to be kerfed across the "Face Plate. And then, BEFORE the actual cut commences, we 

want the sideways movement of the stock to cease as the "Long Indexing Arm" ride smooth and freely down the parallel side of the "Striker". 

If this outward angle where to be too slight or negative, the index arm would continue to be pushed inward binding upon the "Striker" whilst 

continuing to push the stock sideways during the cut thereby causing very stiff operation and a curve to the kerf.  
 
With the above in mind, to determine the position of the rebate in the "Indexing Base", I stacked it on top of the "Sub-base" and placed them 

on my bandsaws table as if the jig were in operational position. I made up an angled "Striker" and clamped it to the edge of the table and 

placed the "Long Indexing Arm" in the approximate position to give it the side movement and slide as described above. I then marked the base 

http://www.anzlf.com/viewtopic.php?p=9556 (8 of 15)24/07/2008 12:04:22 AM



Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

at a point that would identify the centre of the hole to be drilled that would eventually accept the bolt to secure the "Long Indexing Arm" to the 

"Indexing Base". Using this mark, I then determined the position of the 4" x 4" x 3/16" Lexan plate.  
 
Daniels "Lexan Cut Plan" has dots marking the position upon this 4" x 4" x 3/16" Lexan plate where holes will be drilled to fasten the various 

components. I did not use these because I'm and idiot and did not look, but I am sure you could. Anyhow, now that you have marked the 

position of one of these dots on your "Indexing Base", I guess you can now go ahead and use Daniels plan to determine where you should 

mark out your rebate.  
 
Phew! I hope this is making some sense folks, if your finding it hard to read, you should try writing this stuff. On the brighter side, if you have 

made it this far you are over the worst of it, the rest is pretty straight forward. Here are some images of the rebate in the "Indexing Base". 

Because it is so easy to set-up, I used my tablesaw like a dado with the blade wound up 3/16" to accept the Lexan. Mark your "Indexing Base" 

and go at it with the mitre guide.  
 
 

  

 
You can now go ahead carefully drilling and countersinking the 4 holes in each corner of the 4" x 4" Lexan plate and then fastening it in 

position using short 20mm/ 3/4" particleboard screws. These short screws will be removed later and longer screws will replace them to fasten 

the 2 bases together. But for now, 20mm is good, DO NOT drill any other holes in the Lexan until the plate is fastened. Now that the Lexan 

plate is secure, you can go ahead and drill a SMALL PILOT HOLE through the Lexan and right through the 3/4 ply to mark the position for each 

of the 1/4" bolts that will secure the "Long Indexing Arm" and the "Spacing Adjustment" piece. When done, you can flip the "Indexing Base" 

over and using the pilot holes as a guide for a Fostner or spade bit of suitable size, you can then rebate the underside of the base to accept 

flush or below the base the "1/4" Cup head Bolt" which will fasten the "Long Indexing Arm" and the "2 x 1/4" T-Nuts" that will secure the 

"Spacing Adjustment" piece.  
 
Once these rebates have been made, you can flip the "Indexing Base" back over and graduate the holes out to 1/4" right through the Lexan 

and the ply, flip the base back over and shallow drill the 1/4" "T-Nut" holes to accept the "T-Nut" thread shaft. You can now fit the "T-Nuts" 

and the "Cup Head Bolt" into position. But, if your bolts are too long, you may need to trim them to length so they do not protrude through the 

http://www.anzlf.com/viewtopic.php?p=9556 (9 of 15)24/07/2008 12:04:22 AM



Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

base when in position on the Lexan components.  
 

  

 
Next drill (in safe increments) all the 3/8" Lexan components, (accepting the "Stop Block" which is drilled and countersunk to accept 

particleboard screws only) out to 1/4" and then, at the pivot points being each end of the "Long Indexing Arm" and the rounded end of the 

"Short Indexing Arm", out to 9/32" . But what about that brass tubing? Well if you did not get any it does not realy matter too much, you can 

use other fasteners for the pivot points and forget about the 1/4" bolts (you did of course read this far like I warned before you drilled didn't 

you) this is just my own modification. As far as I am aware, neither Daniel or Frank uses this method on their jigs but I found it to be pretty 

slick.  
 
As mentioned ealier, I use brass tubing to make very simple and effective press fit bushings for the pivot points in the Lexan, it makes things 

run very smooth and accurate. I guess some of you may be across this method already but I discovered it myself some time back and have 

found it extremely useful for all kinds of things so keep this tip in mind, it will come in handy down the track for other projects I'm sure. The 

next image shows some of the brass tubing and a 9/32" drill bit that provides the perfect bore for a gentle push fit of the brass bushing.  
 

http://www.anzlf.com/viewtopic.php?p=9556 (10 of 15)24/07/2008 12:04:22 AM



Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

  

 
Once you have drilled your Lexan (clamped securely and in safe increments) out to 9/32" you simply use your bandsaw with that fine tooth 

metal blade, to cut a small piece of the brass tubing just a tiny bit shorter than the lexan is thick. Gently clean off the burr from your little 

brass bushing with a fine needle file (not too much now, we want a press fit), and press it home into the hole you drilled in the Lexan. This 

piece is now ready to accept a 1/4" bolt or threaded rod as a shaft.  
 

  

 
Here is the configuration that I used to link the 2 "Indexing Arms". The fibre washers go directly below the "Nylok Nuts" on the surface of the 

Lexan, and then they are nipped up snug and backed off a little to obtain the desired freedom of movement. Same goes for the lower end of 

the "Long Indexing Arm". I used the 1/4" machine screw to fasten the upper part of the adjuster, and a 1/4" machine head bolt with fibre 

washer and metal washer on top for the lower sliding part of the adjuster. The adjuster slot is made by drilling a 1/4" hole in the adjuster 

material about 2/3rds the way across in line with the bolt shaft. You then cut either side of the hole with a fine tooth saw and file the slot 

clean. Note that the top screw of the "Stop" is fixed into the same hole that was drilled in the 4" x 4" Lexan plate.  
 

http://www.anzlf.com/viewtopic.php?p=9556 (11 of 15)24/07/2008 12:04:22 AM



Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

  

 
Now here is where Daniel informs me that he made an upgrade to his jig and you can see that same alteration in my own effort. If you look 

closely at Daniels tutorial, you will see that the angle of attack that the "Indexing Pin" makes when in contact with the stock is quite acute. This 

steep angle tends to push the stock more firmly against the "Face Plate" than is necessary so rather than just sliding the stock along, it 

introduces a tendency for the indexing pin to dig into the stock itself. This not only causes a less fluid operation of the jig but also it can cause 

the stock to be dragged back across the "Face Plate" as the jig is retracted past the "Striker"  
 
As mentioned in my "List of Materials" I have used an industrial sewing machine needle for the indexing pin on my jig but any hard steel pin 

could be used. Maybe an Allen Key or a drill bit will do so long as it can be sharpened to a chisel point as recommended by Frank Ford it will be 

fine. When first set-up, I has drilled the hole for this needle on a horizontal plane through the end of the "Small Indexing Arm", this was a 

mistake as the pin made contact with the stock too high up. The main problem was that when kerfing pre-radiused stock for reverse kerfing, I 

was forced to cut with the radius part of the stock toward the base of the jig, this gave a bit of fuzz on the visible radius when done. Drilling at 

an angle through the "Small Indexing Arm" to accommodate the "Indexing Pin" has addressed this issue and now my kerfing is much cleaner 

than I showed in my initial post way back when I first mentioned this jig.  
 
This next set of images attempts to show the more gentle angle of attack that "Indexing Needle" makes with the stock on my jig. The angle of 

hole that was drilled in the "Small Indexing Arm" to accept the "Indexing Pin". And how the needle was sharpened to a skew to counter that 

angle and allow full contact.  
 

http://www.anzlf.com/viewtopic.php?p=9556 (12 of 15)24/07/2008 12:04:22 AM



Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

  

 
Daniel also mentioned that he made another up grade to prevent the stock from back feeding and I will include those details at the bottom of 

this post. As you will see in the image below, when I put my jig together, I extended the "Guide" block past the inboard end and shaped it with 

a curve so the stock would be inclined to feed back and angle away from the neck of my small bandsaw. Being that it is fastened with only one 

screw through the "Holder for Strip Guide" piece of Lexan, I have found this block to be handy as it pivots. Because of the shape it's 

adjustability it affords just enough friction to mostly eliminate the backfeed issue. I also do not mind holding the stock with my finger in 

rhythm with the feed, but if you were doing a lot of this I am sure there is a better way. For now this will do me.  
 

  

 
And here we have Daniels anti backfeed update that I recieved from him after I done up the original version of this tutorial:  
 
#1 is just how I changed the angle of the index arm. #2 is the little arm I added to stop the strip from being pulled backward.  
 

http://www.anzlf.com/viewtopic.php?p=9556 (13 of 15)24/07/2008 12:04:22 AM



Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

  

 
Now all that you need to do is fit some kind of hooks to hold the rubber bands or spring in place, fit the "Stop" block, and the "Strip Guide 

Holder" align the jig back onto your bandsaws table checking all is in order and finally fit the mitre bar to the Sub-base , change out the small 

20mm particle board screws that were holding the 4" x 4" Lexan plate to the Indexing Base so that all is secure, dimension down some stock 

and cut some kerfing.  
 
If I have forgotten anything, let me know.  
 
(I have converted this tutorial into pdf. format which can be downloaded for viewing and printing from this link: http://members.iinet.com.au/

~larkim/larkim/Ksled/Ksled.pdf )  
 
Cheers All, hope this helps someone, and Happy Kerfing  
 
Kim 

_________________ 

If you always do what you've always done, you'll always get what you've always got 

Back to top
 
  

Display posts from previous:   

      Australian/New Zealand Luthiers Forum Forum Index -> Tutorials All times are GMT + 11 Hours 

Page 1 of 1

http://www.anzlf.com/viewtopic.php?p=9556 (14 of 15)24/07/2008 12:04:22 AM

http://members.iinet.com.au/~larkim/larkim/Ksled/Ksled.pdf
http://members.iinet.com.au/~larkim/larkim/Ksled/Ksled.pdf
http://www.anzlf.com/profile.php?mode=viewprofile&u=6&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/privmsg.php?mode=post&u=6&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/posting.php?mode=newtopic&f=5&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/posting.php?mode=reply&t=751&sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/index.php?sid=08c0893c643f9fcc2efcdd7509cf459d
http://www.anzlf.com/viewforum.php?f=5&sid=08c0893c643f9fcc2efcdd7509cf459d


Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig

 
  

Jump to:  
You cannot post new topics in this forum 
You cannot reply to topics in this forum 

You cannot edit your posts in this forum 
You cannot delete your posts in this forum 

You cannot vote in polls in this forum 
 
 

Powered by phpBB © 2001, 2005 phpBB Group 

http://www.anzlf.com/viewtopic.php?p=9556 (15 of 15)24/07/2008 12:04:22 AM

http://www.phpbb.com/

	anzlf.com
	Australian/New Zealand Luthiers Forum :: View topic - The "K-Sled" Kerfing Jig


	FHCCKHALHJPGFJHJJBPLEOBCMIPKEEGB: 
	form1: 
	x: 
	f1: [0]
	f2: [asc]

	f3: Go
	f4: 

	form2: 
	x: 
	f1: [5]
	f2: 08c0893c643f9fcc2efcdd7509cf459d

	f3: 




